## Math 4550 9/17/25

## TOPIC 3-DIRECT PRODUCTS

Def: Let 
$$G_1$$
,  $G_2$  be groups.  
The Cartesian product is  
 $G_1 \times G_2 = \{(g_1, g_2) \mid g_1 \in G_1, g_2 \in G_2\}$ 

$$Ex: U_{3} = \{1, 5, 5^{2}\}$$

$$Z_{2} = \{5, 7\}$$

$$U_{3} \times Z_{2} = \{(1, 5), (1, 7), (5, 5), (5, 7)\}$$

$$(5, 7), (5, 7), (5, 7)\}$$

We can make this intragroup.

Operation: (a,b)(c,d) = (ac,b+d)(multiely For example:  $(1,T)(S^2,T)=(1,S^2,1+T)$  $=\left(\begin{smallmatrix}2\\2\\2\end{smallmatrix}\right)$  $= (\S^2, \overline{0})$  $(1,\overline{0})$ 

For example,  

$$(1,\overline{0})(S,T) = (1.S,\overline{0}+\overline{1})$$

$$identity = (S,T)$$

Ineorem: Let Gi, Gz be groups With identity elements e,, ez respectively. Then Gix Gz is a group using the operation (a,b)(c,d) = (ac,bd)operation operation in Gi

The identity element is (e,, ez)
The inverse of (a,b) is (a', b')

Prouf: () (closure) Let  $(a,b),(c,d) \in G_1 \times G_2$ . Then,  $a_1 \subset E G_1$  and  $b_1 d \in G_2$ . Since G, is a group, We Know acEG1. Since Gz is a group, we know bd E G2. Then,  $(\alpha,b)(c,d)=(\alpha c,bd)\in G\times G_2.$ (2) (associativity) Let (a,b), (c,d),  $(e,f) \in G_1 \times G_2$ . Then,

$$(a,b)[(c,d)(e,f)]$$

$$= (a,b)(ce,df)$$

$$= (a(ce),b(df))$$

$$= (ac)e,(bd)f)$$

$$= (ac)e,(bd)f$$

$$= (ac,bd)(e,f)$$

$$= \left[ (a,b)(c,d) \right] (e,f)$$

(3) (identity)

Let's show that (e,, ez)

is the identity of G, X Gz

where e, is the identity of G, and ez is the identity of Gz.

Let  $(a,b) \in G_1 \times G_2$ .  $\alpha \in G_1$   $(b \in G_2)$ 

Then,

$$(a_1b)(e_1e_2) = (ae_1,be_2) = (a,b)$$

$$(e_1,e_2)(a_1b) = (e_1a_1e_2b) = (a_1b).$$

So, (e,,ez) is the identity of G,xGz

4 (inverses)

Let  $(a,b) \in G_1 \times G_2$ .

Then a ∈ G, and b ∈ G<sub>z</sub>

Since Gis a group, we Know a exists in G, and  $\alpha \hat{\alpha}' = \hat{\alpha}' \alpha = e_1$ Since Gzisa Groups We know b'exists in Gz and bb'= b'b = e2. Then,  $(\bar{a}, \bar{b}) \in G_1 \times G_2$ . And,  $(a,b)(\bar{a},b^{-1}) = (a\bar{a},b\bar{b}) = (e_1,e_2)$  $(\bar{\alpha}', \bar{b}')(\bar{\alpha}_1 b) = (\bar{\alpha}' \bar{\alpha}_1 b' b) = (e_1, e_2)$ Thus, (a)b) is the inverse of (a,b). By (1)(2)(3)(4) G, X Gz is a group